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< 238,470
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10,0002 = 15004 »23| 3,000
02 232gHl 14,400 9,000 5,400
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& 5,400
203 YR =] 6,000 2,700 3,300
03 Al =AY R4 6,000 2,700 3,300
ONGAH 43 AMFA(ZHAMALEIE) 4,000
ONAAMELS A2 AMEA
166,600& =128 2,000
307 gl2tol & 7,560 900 6,660
< 3,780
s 3,780
02 It M AHE L 7,560 900 6,660
OFSANE STHSH XI& A 7,560
< 3,780
s 3,780
401 Al HIZ 2018 15,000 60,000 A 45,000
01 A& HI 15,000 60,000 245,000
ONSAIE M4 Szt 15,000
Sttty 2te| 17,092 16,206 886
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< 2,400
s 4,196
201 €24 3,900 3,648 252
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OSIHHHMAZS A=Y 70,000 x9H 23| 1,260
O=HI(8tets S) 8,000& *3H 604 1,440
OSotetEE <8t & - 6tEH)| 222 M 1,200
ZFetoraga X3 1,800 1,800 0
301 LEEAZ 1,800 1,800 0
12 JEEd= 1,800 1,800 0
Oshtaga CldE S 1,800
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201 et 500 900 A 400
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OZdHMus ZA=g 500
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dHaeld Ads =29 10,290 8,400 1,890
201 Let249] 10,290 8,400 1,890
01 At 22/l 10,290 8,400 1,890
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70,000& 49 32 10,290
Jgd Sdat ANFE 300,000 0 300,000
< 120,000
[ia 180,000
201 Let24d] 10,000 0 10,000
< 4,000
[ia 6,000
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< 4,000
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307 21201 A 290,000 0 290,000
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201 2Et2Hy| 30,000 0 30,000
01 AP 2t 2] H| 30,000 0 30,000
ONSAE ZAMW ME(2220)
500 3,000 *4JH 2~ 30,000
=QAIA g8 ZIX 29 40,000 0 40,000
201 LBt | 40,000 0 40,000
03 Al H H| 40,000 0 40,000
O 2 2AIE OFAEX 2 (L22064) 40,000
HD| HIOIH A 11,765 0 11,765
101 e1214| 3,665 0 3,665
04 JIZtHI22XNSE S 3,665 0 3,665
QHED| HIIZAA B4 ZAH o2A(0123)
73,280& x23 20 2,932
QHED| HIIZAA B ZAF AU (F=XN2H)
73,280% x2H x5 733
201 et Y| 8,100 0 8,100
01 AP 2t 2] H| 8,100 0 8,100
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OFIIZEA 22| 1,000
O&IZEAN 222 2H| 2,000
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= 112,040
= 1,895,850
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05 QIZtRES 1,300,000 1,500,000 A 200,000
Qg BN Z= 13,000, 000,000 *10% 1,300,000
g 280,000
= 42,000
= 978,000
MEEESHE K& 300,000 300,000 0
306 23 300,000 300,000 0
01 5492 300,000 300,000 0
O3YNEESH sH2 300,000
AAZBO BHHMNA X 140,000 190,000 A 50,000
& 56,000
= 84,000
402 SI2F X201 & 140,000 110,000 30,000
& 56,000
= 84,000
02 CIZEXIE AL EX (0| XM THL) 140,000 110,000 30,000
OasZ2ol sHINA X 2,000,000 7000 A 140,000
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= 84,000
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= 14,040
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= 14,040
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= 14,040
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03 QIZIHY P ESIHIEX 32,600 0 32,600
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g 161,106
= 80,482
= 1,593,606
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s 2,488
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s 1,741
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04 JI2ZtHZ22EE = 249,621 162,818 86,803
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9, 160 15 B Al 2420 x 10& 164,880
OFE+g 2 oixt2g
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o4l 2= 221,100,000 x11% 24,321
OMEX HH&HUEEH 3,000
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101 @14 Hl 515,424 469,832 45,592
04 JIZHHZ2XNHEE S 515,424 469,832 45,592
OF E A 24 AFY 430,014
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—FE4Y U AR4T
9,160 x20H *BAI 2tx52 10 73,280
—uSH ¥ 208 5000&+20F%21 %102 21,000
— 40 2= 387,400,000& *11% 42,614
OUsd Ot=HI0IEALE 61,006
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—EE2Y U ARAY
9,160& 20 ~6A| 2t x5 2 10,992
— 40 2= 54,960,000 x11% 6,046
Otysta olE 24,404
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9,160& x12H «BAI 2tx20L » 1& 17,588
—EE4Y U AR4Y
9,160 x12H x8Al 2t+5 x 1& 4,397
—40 B8 = 21,984,000& x11% 2,419
HEeE 3 5,000 4,000 1,000
< 2,000
s 3,000
201 £B-2d| 5,000 4,000 1,000
< 2,000
[ia 3,000
03 A2 Z Hl 5,000 4,000 1,000
omseetsl A 2l (18)) 5,000
< 2,000
i 3,000
A EDIY SH(LREE) 83,000 120,960 A 37,960
as 62,250
= 6,225
e 14,525
307 glz2+ol & 83,000 120,960 A 37,960
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s 14,525
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< 1,800
s 4,200
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s 8,250
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s 1,925
—HAAHNS 2,000,000 »2H «12& »70% 33,600
s 25,200
= 2,520
[ia 5,880
—d=2ed 2,000,000& 12 «8& x90% 14,400
s 10,800
< 1,080
i 2,520
A ZHEH =4 X& 10,400 500 9,900
201 £B-2dH| 10,400 500 9,900
01 At 22l 2,000 500 1,500
OAZI & BHIIY E8 I & 22X MH
5,000& *4000H 2,000
03 A2 Z Hl 8,400 0 8,400
OAMSIE ZHMIIg ALE W= 700,000& *23] 1,400
OMgz=z8 2% K& 1,000,000 «7IH £ 7,000
MIEHFH HEURE TZME(XNDFEH A2l 16,830 36,000 A 19,170
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= 9,350
=3 2,244
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307 glz2+ol & 16,830 36,000 A 19,170
= 9,350
=3 2,244
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02 QIZtE M AMHEE 16,830 36,000 A 19,170
Odg AHFH FEHEFEE Z2HE Q/2H| 16,830
—HURS DRME HOI A28 (10HL)
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= 9,350
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= 23,625
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= 20,560
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OAY HUZo DeEHE =HFXI
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100,000& 4«53 2,000
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= 1,750
307 21201 A 36,000 86,400 A 50,400
2 20,000
< 4,800
[ia 11,200
02 QIAFAAFEX 36,000 86,400 250,400
OUXEZZ2ME FOHA Q24|
2,000,000 »4H «53 x90% 36,000
= 20,000
< 4,800
s 11,200
AEE ZHY LXelAY 205,652 111,480 94,172
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- 7.700
s 7,700
OEZ(8) ¢ 294 S 400
= 200
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2 MIFZH & FEHRESE ZZ2RE 47,925 0 47,925
- 21,300
= 7,987
[ia 18,638
307 21201 A 47,925 0 47,925
- 21,300
= 7,987
e 18,638
02 IAHFAAHFEX 47,925 0 47,925
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1,775,000& 3% x10& »90% 47,925
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101 Q124 H] 14,289 0 14,289
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NESsZ2CX AlE 2 11,000 11,000 0
201 et d| 8,000 8,000 0
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& 21,000
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Odtet FHWEH XNEAIY
(10,000 *6H x 122 )+(10,000& x4H x72! ) 1,000
HUHEX XS 38 22| 1,402,670 3,181,156 N1,778,486
= 334,614
& 187,150
= 880,906
HUXS+Z 2 r@2e 1,033,670 2,948,156 1,914,486
= 166,614
o=t 177,250
= 689,806
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== 177,250
= 291,750
402 SI2FXHE0| & 469,000 712,500 A 243,500
== 177,250
= 291,750
02 QIZEXIEAISE X (0| XM THL) 469,000 712,500 A 243,500
OMTHMUUX EZ2(HE S A ALY
4,000,000 * 1004 & 40,000
= 20,000
= 20,000
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1,000, 000& 235l CH 235,000
& 65,000
= 170,000
ODILIEZ E2AIY 650,000 x50 Al CH 32,500
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= 8,360
i 13,640
X =X 369,000 233,000 136,000
= 168,000
< 9,900
s 191,100
HASS EIIANE o 33,000 33,000 0
< 9,900
s 23,100
403 MHXSHHSA=0l& 33,000 33,000 0
< 9,900
[ia 23,100
02 SO 2SOCHsH A2 X 2 &AM I 33,000 33,000 0
OFIIAEMNE L A H (150AICH) 33,000
< 9,900
s 23,100
NASSEM(FHLHS AHX=XR) 256,000 200,000 56,000
= 128,000
e 128,000
401 Al Bl 2B 256,000 200,000 56,000
= 128,000
e 128,000
01 A& HI 256,000 200,000 56,000
OFHLHE NUXSX AL (SXAIE 4604 4) 256,000
= 128,000
[ia 128,000
LPGS Dl AFE It Al & & ALY 80,000 0 80,000
= 40,000
s 40,000
403 MHXI S E X201 & 80,000 0 80,000
= 40,000
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02 SO 2SO HSHAHE X 2| &AL H 80,000 0 80,000
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= 151,000
= 498,000
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g 160,000
= 16,000
= 37,000
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g 160,000
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02 BI2SHUSXAN=2EAEAIE Y 213,000 852,000 A 639,000
OsHE FHAXYE MSHAH HE(EA2) 213,000
= 160,000
= 16,000
= 37,000

SHE FHAXE MESHH HE(MNHE R2) 558,000 469,000 89,000
Fag 414,000
& 40,000
= 104,000

403 XX SHHS K20 & 558,000 469,000 89,000
Fag 414,000
& 40,000
= 104,000

02 2| 2SS AE2EAEAISHI 558,000 469,000 89,000
OSHEFHNAXYE MEWHAH HZ(MAH 22 558,000
= 414,000
== 40,000
= 104,000

SERSSALEE HAXFALLY 270,000 0 270,000
= 135,000
= 135,000

401 Al HI L 204 HI 270,000 0 270,000
= 135,000
= 135,000

01 Al&H| 270,000 0 270,000
O SsEREANE ZHIAXIAY 270,000
= 135,000




SN KSeLD
=L RN
Al

gel: s&

Off &t 24

=

i
2

HJ

135,000
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Mo A

494,000
335,000

48,000
111,000

494,000

403 XIS SA=01A

Mo A

494,000
335,000

48,000
111,000

494,000

Mo

494,000

494,000
335,000

48,000
111,000

494,000

EUNCIEY)

556,000
398,000

47,000
111,000

556,000

403 TtXI M S A=01 A

oA

556,000
398,000

47,000
111,000

556,000

0
x
e
Jo
2

A A

556,000

556,000
398,000

47,000
111,000

556,000

KSR AL

HH A

,969,500
, 134,000
402,900
,432,600

8,873,220

A 1,903,720

O

1]

0z
o
i
o
0
=5

H [

,969,500
, 134,000
402,900
,432,600

8,873,220

A 1,903,720

OlsH S HNEMHE

175,000

175,000

401 AIEBIZ 2 CHYI

175,000

175,000

01 A& HI

i

O0ISH AR HEHLAE NSsAY

EX 24

ro

175,000

175,000

175,000

OlEH A HAFME

U AT

,620,000
, 134,000
145,800
340,200

4,281,400

A2,661,400

403 TtXI M SA=01A

&Y

1
1

,620,000
, 134,000

4,281,400

A2,661,400




2N
X ZH -
L= B
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 145,800
= 340,200
02 ZI2SHUSA=2EAEAS Y 1,620,000 4,281,400 AN2,661,400
O0lx™H A HE ML 1,620,000
= 1,134,000
= 145,800
= 340,200
o An AR {E Y 1,714,000 138,600 1,575,400
Fag 1,200,000
= 154,200
= 359,800
403 XX SRS K20 & 1,714,000 138,600 1,575,400
Fag 1,200,000
o=} 154,200
= 359,800
02 2| 2SO Uet =22 EAIS Y 1,714,000 138,600 1,575,400
oY Ay HAC HEINLAIE 1,714,000
oy 1,200,000
& 154,200
= 359,800
AFH 2& A HEINY 1,143,000 171,400 971,600
Fag 800,000
= 102,900
= 240,100
403 XX SHHS K20 & 1,143,000 171,400 971,600
g 800,000
== 102,900
= 240,100
02 BI2SHUSXA=2EAEAISHI 1,143,000 171,400 971,600
O&8FdH 28 U HEIHLAIY 1,143,000
g 800,000
= 102,900
= 240,100
238 0ISH ESHY(NE) 697,000 507,000 190,000
403 XX SHS K20 & 697,000 507,000 190,000
02 2| 2SO e A=2EAEAS Y 697,000 507,000 190,000
OZ8 I E3NE A 697,000
E§ol OSSP SN (HEH) 453,000 280,000 173,000
403 XX S M S K201 & 453,000 280,000 173,000
02 2| 2SO Uet 2= EAIS Y 453,000 280,000 173,000
Ogst OIS SN AE 453,000
HERY 300AI (S25ts) 850,000 1,295,000 A 445,000
401 AlEHIZL 2 0HY| 850,000 1,273,400 N423,400
01 Al&H| 850,000 1,273,400 AN423,400




2N

ANSadl

=

2 NG L A
ool sENE BT (ol @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSZste HEFEAMS(F.Z3HHD 1) 850,000
AL AHE SR 2l 209,500 96,220 113,280
201 Lt 22,200 6,220 15,980
01 At 22l 3,000 0 3,000
OXYGMLALAE 2L A222HI(EE &
AEE) 300,000& =103l 3,000
02 2324l 19,200 6,220 12,980
OXSGIHLASEE IS (MANE 33AML,
L daxdy) 500,000& »12& 6,000
OLAA THANEE B3R
850,000& »12& 10,200
O0l=0t= golls MY  1,500,000& *22] 3,000
401 AIEHI L 2CHEI 187,300 90,000 97,300
01 A& Bl 187,300 90,000 97,300
OsclA HAES 22y
8,750,000 =44 35,000
Oa=Zs0tE 2=XMelAld A2l 20,000
OdSEsite 2a=HMelAld8 WAsI LH 25,000
OO0l=0t2 Jt24 HHl(L=350m) 20,000
OD0I=20t2 AUAIE FHI(Y7R2tE, HOYAIL
OHLY EXI) 10,000
OZAAY 0k FAHAEHYI
20,000,000 =104 2 20,000
O/MAEHA OFAAIE FHHI(HUX S AL,
ZHAH) 20,000
oA Ot2 Xote RS2 &I &X 6,300
OULHOt=: oSt HIIAE 22 SA 5,000
OIS (3H, 28&) EHD
2,500,000& »23| 5,000
O oflet=2 HIIAE |22l (=4 1,534
m) 21,000
AFAIE B2 F4I 2,000 4,000 A 2,000
201 Let249] 2,000 4,000 A 2,000
01 At 22/l 2,000 4,000 A 2,000
OAFAIY B2EHI(HAXNY HE S)
25,0003 x 102 x4 5 +23| 2,000
Ols™H MNLEz JAMLAS 106,000 0 106,000
401 AIEHI L 2 CHYI 106,000 0 106,000
01 A& HI 106,000 0 106,000
O0lsH Uz 2 FAML AL (1,165m ) (F 0
EH04 0l &F) 106,000
HH2IGZH(XNSEH D) 71,100 62,440 8,660
Jl2Z3l 71,100 62,440 8,660




AN XNGEdn
M HY2IZH (NG EHn)
& 123l fEH)
= _ — d =
SA - B (SH) - MRAY - BYS e 2
J2du (X2 HE) 37,500 33,640 3,860
201 ¢er24l 14,400 15,960 A 1,560
01 At22t2l bl 14,400 15,960 A 1,560
OZM2Y Liet=EH| 1,000,000 «12& 12,000
O=29g «et=&H 200,000& 12 2,400
202 o4 Hl 16,200 13,900 2,300
01 S LHOIYI 16,200 13,900 2,300
O2M2g (bl 20,0003 x18H x5 1,800
O=Uodtl 20,0002 x6H «120 14,400
203 YR =2l 6,900 3,780 3,120
01 12 2Z YR 3,300 0 3,300
OJAR2YLIFTANE(ZMANASLE 2 F)
275,000& 128 3,300
04 EA2IYRFLH| 3,600 3,780 A 180
ORN2EYEF=AHI 300,000& =128 3,600
Jledtl(diel&&d) 9,600 7,200 2,400
202 o4 Hl 9,600 7,200 2,400
01 = LH 4 Hi 9,600 7,200 2,400
O =L HI 20,0003 *3H 120 7,200
OXHaag At (bl 20,0003 x1E » 120 2,400
J2ZH(EX=IE) 7,200 7,200 0
202 (44l 7,200 7,200 0
01 SLHOIYI 7,200 7,200 0
O=U0oibl 20,0003 *3H 120 7,200
Jl2dul (2N UXE) 9,600 7,200 2,400
202 Oddl 9,600 7,200 2,400
01 = LH 4 Hi 9,600 7,200 2,400
O = Hi 20,0003 x4 120 9,600
JIEFEHIH(XISHEE) 7,200 7,200 0
202 04l 7,200 7,200 0
01 SLHOYI 7,200 7,200 0
O=aU A bl 20,000 x3F 120 7,200
WREsS (XSS 100,000 106,400 A 6,400
WEHHX S 100,000 100,000 0
SNINYSH)I=s dE 100,000 100,000 0
02 Jlsd&E=s 100,000 100,000 0
(RPIE=RSE-<A= 100,000 100,000 0
OSAIIYSHEII= dE3 100,000




2N NegsD
M FOHX e

el WRAHAHXS (&)
= _ — d =

SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
X HY 39,300 0 39,300
HEHHXE 39,300 0 39,300
LHAFHIG XNIAMNY SEIH &3 39,300 0 39,300
701 JIEtSI HEHES 39,300 0 39,300
01 JIEtZIHEES 39,300 0 39,300

OLHAFHIAXNAAY ELH HES 39,300




